Sub.Code : 1041'A’
NEB - GRADE XII

2081 (2024)
Accounting
Supplementary Examination

frardleEe a@a# JTEA ¥I=HT T g Te | TAT [FFIRTAT B30 d5a [ig®
FAToee |

Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs. Full Marks: 75
o TR ITT &EF‘TFLI (Attempt all the questions)

g9 ‘® (Group 'A")

e T STUCTE TR E (Very short answer questions) [19>9=91]

%

feraor Tt oo B & 48 daeE AeTerd |

Write any two contents included in prospectus.

T SR 94 I TR |

Write the meaning of calls-in-arrears.

eI Fwfoar o 9@ e | (State the meaning of fixed assets.)
TaATTT ARTaeTs it THEr | (Define service costing. )
R Ay g€ 99 deTerd |

Write the meaning of fixed overhead.

ATATI® HIITT TUITEAETHAT SETa 1 |

Write about the periodic inventory system.

HYRL FTAT SR JUIEAIHT E g2acl BIEEEE Jooid THar |

Write any two advantages of time rate system of wage payment.

oraT FafrAT FFFEL TS B 33 Bleae® Seoid e |

Mention any two advantages of computer system in accounting.

fae afehl T & 0,000 HT THIEST Fiawel T T |
Pass an adjustment entry of outstanding salary Rs. 20,000.

HA4; (Contd...)



1041'A" (2)
0. T feZUHT GHAATH! ATITCHT A [[ T HEATE fafusr T8 @H e |

From the following information, calculate cash payment to creditor in year
I1.

@& (Purchase) Rs. 3,00,000
fafeqer @mg8® (Sundry creditors)
Year-I Rs. 20,000
Year-II Rs. 30,000

99. 1Mt gfmT R0,000 & 1. T faaeadt srer qfeATUTEr GEEAT 90 eE g, T
AMITEH |

Annual requirements is 20,000 kg and No. of order of EOQ is 10 times.
Find out economic order quantity (EOQ).

w IIE-'.' (GI‘GU[J FBF}
dired IUUHS YAE® (Short answer questions) [Gx4=Y0]

93 TP fATHEE HFIHIA & Q00 L& 0,000 faar TR FMFTTaR THH qThil g4

T ST =
A limited company issued 10,000 shares of Rs. 100 each, amount payable

as under :

#TEETHT (On application) Rs. 35
FISHISHT (On allotment) Rs. 40
wow T sifeaw f=maT (On first and final call) Rs. 25

9%,000 f&TT SGTH AT ATEIT TLHMT 93,000 AEATHEEATS THINTS
ATHTCAT ATSHiE @ T T(ehl AR ARSI QT | ATEIAATT YT Afaren
W FISHISHT TR AT | g fHTe @R 71T JHINH 91 6T | 9€ 100

ferarT ST Afwaw fopet Tt &7 A |

Application were received for 15,000 shares and allotted to 12,000 applicants
on pro-rata basis and rest were rejected. Excess application money were
adjusted on allotment. All called money were duly received except on 500
shares on first and final call.

TR TEg (Required): =S (Journal entries for) : [1.%+3+9.4]
a) 919X #1943 (Share application)

b) 9T FfEHIE (Share allotment)

c) waw 471 Af~aw fe=r (First and final call)
FH9: (Contd...)



3) 1041'A"
93.(1) TS FFUA T FIfae® ©. 3,9%,000 HEH{T HeaAT @ 14T |

A company purchased following assets at an agreed price of Rs. 2,16,000.
Hi=Y (Furniture) Rs. 50,000
¥ gHae® (Other assets) Rs. 1.00,000
FHA &, 400 T AT Affh WA 0 Faeraated SKHm g1 T4 S T=4T |
The company paid agreed purchase price by issuing shares of Rs.100
each at 20% premium.
TR THe| (Required):
iy @8 @ 9T s sieEE
Entries for purchase of assets and issue of shares.
(II) T F¥iter Q0 Fhretaa, 9,000 foam HOTTHE® &. §00 T ¥ Wl sfafx
& oW1 eaTeT T ¥ a¥ g Q. vl sfafen Ao feat T |

A company issued 1,000, 10% debentures of Rs. 100 each at 5% premium,
redeemable after 5 years at 15% premium.

TR e (Required): 3]
HUYH frreprer T et SeEE
Entries for issue and redemption of debentures

VY. UIET FHIAIE! T qUHT GIATH AETTEE [TFATTH G -

A company's last years ledger balances are as follows :

[1+4]

CEEL] (Particulars) THH & (Amount Rs.)
Y% HISS (Opening stock) Rs. 50,000
@@ (Purchase) Rs. 1,20,000
fer#fit (Sales) Rs. 2,00,000
o4 (Salary) Rs. 25,000
uTHl T faselt (Water and electricity) Rs. 6,000
qTeT T & @<e® (Rent and other expenses) Rs. 8.000
FIE 9T (Commission received) Rs. 4,000
T (Wages) Rs. 10,000
9sft (Capital) Rs. 1,25,000
fet g¥afte® (Fixed assets) Rs. 1,10,000

99 & (Additional information):

a) #faw e (Closing stock) Rs. 60,000
b) fa g &= (Salary due) Rs. 5,000
c¢) feav grafanr e@@8 (Depreciation on fixed assets) 10%

A (Contd...)




1041'A" (4)

TR T (Required): [1+¥]
a) =AM @@l (Trading Account)
b) HATHT AFET &7 (Profit & Loss Account)

Y. TS HFIATD! Freerd LT FTEr g

The trial balance of a company is as under :

CEER] (Particulars) shae (Dr. Rs.) E TF-r.d (Cr.Rs.)
@<% (Purchase) 50,000
ddd (Salary) 10,000
fesft @< (Selling expenses) 5,000
At fomm eI (Prepaid insurance) 7,000
feat gwafae® (Fixed assets) 80,000
=] gHfte® (Current assets) 38,000
gsil (Capital) 1,00,000
fai (Sales) 75,000
91 g1 (Current liability) 12,000
e (Discount) 3.000
STHAT (Total) 1.90.000 190,000
99 FM® (Additional information):
a) fom afe @ (Salary due) : Rs. 3,000
b) feax gwafoar sm=a (Depreciation on fixed assets) :  10%
TR T (Required): [4]
F4 fgawr (Work sheet)
i Jqar rde FATT 97 & (Prepare format yourself)
%, ANTG SETH 9 TR T JHH B 3 HIHTE% AT T | [R43]

Write the meaning of cost accounting and explain any three limitations of
cost accounting.
qu, (1) 41 gftg yomeEr o Jeog THE | [}]
State the meaning of centralised purchasing system.

(IT) 7 AfEATEN YER FREAREE MFATTER (U g :

The following store transactions are given for the month of May :

May 1: LiLd HsETT ( Opening stock) 500 units(@ Rs. 20
May 6: g4% (Purchase) 900 units@ Rs. 25
May 15: @dg (Purchase) 1,200 units@ Rs. 27
May 25: fa= (Sold) 2,000 units

M (Contd...)



(5) 1041'A’

TaT FTeae™. (Required): 3]
amatae AT GOl Seaia At g waw s fafr wanr @ st
Hisera T foret @mr
Value of closing stock and cost of goods sold using Last-In-First-Out (LIFO)
method under periodic inventory system.

95, (I) TIET FTHITE Gi F ST T EAHT &, 40,000 T IS T=4T | St
& 9 © e 19 TEg |

A worker received wages of Rs. 10,000 in a week of five working days.
His working hour per day is 8 hours.

AT FSTEE. (Required): [R]
g SveT ST aT (Wage rate per hour)
(IT) SR S@Tel SQTHN G ATHMT & 0,000 F |
Net profit as shown by cost account is Rs. 60,000.

feame frerm et fer Tegse afear

On reconciliation the following facts were disclosed.
a) F@MT ATAH @ AN AGHT Ager@d & 4,000

Factory overhead overcharged in cost account Rs. 5,000
b) FTHIAT YT TTH AT &, 3,000 TR AGHT ARTeE T |

Interest received on imvestment Rs. 3,000 not recorded in cost account.
¢) HTTE ETHT % HIAIqd! A HATSHA &, 3,000

Opening stock under valuation in cost account Rs. 2,000
TR e (Required): 3]

T feane Frerm faa

Cost reconciliation statement

9. G AHZATH! 7Y A JAHT F AT ITATEE JeorE WHERL | [R+3]

Write the meaning of accounting software and state its any three features.

a9 T (Group 'C')
RFE[EI' JUUcH® Y9e® (Long answer questions) [3x5=RY¥]
0. T FYHT UIST FFYAIH! Graer geqvr e Rguar g 2

The trial balance of a company on last year is given below :

FHA:(Contd...)



1041'A" (6)
f4aTEE (Particulars) Dr. (Rs.) fqaTE® (Particulars) Cr. (Rs.)
% =T YT Y5 (Share capital) 7,00,000
(Opening stock) 3.00.,000 | HTEe® (Creditors) 160,000
ferst i 909 F HI
(Sales commission) 80,000 | (10% Bank Loan) 3,00,000
@ft@ (Purchase) 900000 | =g FAT A
HTST (Rent) 60,000 | (Other service revenue) 40,000
@ (Salaries) 120,000 | f&=Y (Sales) 12,30,000
S% HIHT TS
(Interest on bank loan) 20,000
FIHIT (Equipment) 6,00,000
AMTEE (Debtors) 1.,60.000
U HIT (Bad debt) 20,000
Ao (Stationery) 10,000
g ferm
(Pre-paid insurance) 30,000
A% (Cash) 50,000
0% ST
(10% imvestment) 80,000
SHAT (Total) 24,30,000 AT (Total) 24.30,000
97 sWH&e® (Additional information):
i) A FiweTa (Closing stock) : Rs.4,20,000
i) R wferept et fo afet (2 months rent to be paid)
iit) A forwr @< Af@dT (Pre-paid insurance expired) : Rs. 20,000
iv) ATFEHTHT AT et (Provision for tax) : Rs. 3,000
TR T (Required): [¥+¥]

a) NFRS #1 Senfa 71T ar 7 [aeun(Profit or Loss Statement based on NFRS)
b) NFRS AT i féeia f@@or (Statement of Financial Position based on NFRS)
OR (3794n)

a) FEAWT AW faaer (Multi step Income Statement)
b) fa<i s@Eear [ET (Statement of Financial Position)

HAM: (Contd...)



(7) 1041'A'

9. UFET SRR (47T g3 ada! arEerd e fus g [¥+¥]
A company provided following balance sheet of last two years :
e Year Year | @¥Q Year Year
Liabilities I I Assets I 1
v o B
(Share Capital) 5,00,000 | 7,00,000 | (Machinery) | 630,000 8.50.000
T fyfraw EIEILIES

(Share Premium)| 50,000 70,000 | (Debtors) 3.30.000 2,50,000
HUYA (Debentures) | 4,00,000 | 2,00000 ﬁﬁrﬂ'{Stﬁck} 90,000 100,000
Faferer qEe® & (Cash) 50,000 1.10,000
(Sundry creditors) 1.00,000 | 1.40000

Afaarea AR
(Retained earning) 50000 | 2.00,000

WHT (Total) 11.00,000 [13.10,000 | STHAT (Total){11,00,000 13,10,000

T ade AT faET e g

Income statement of year II is given below :
f9aToT (Particulars) Rs. Rs.

farsft (Sales) 14,50,000
Less f&#it &M (Cost of Goods Sold) 8,20.000

& a1 (Gross profif) 6,30,000
Less == @< (Operating expenses)
TTEM® 89 (Administrative expenses) 250,000
farst @ (Selling expenses) 48.000
fafesr @9 (Sundry expenses) 44000
F®E (Depreciation of the year) 88.000

HOTH YATTAT S 20.000
(Premium on Redemptions of Debenture)
#ferdt ferirare st (Pl g7 ® ¥y, 000)

(Loss on sale of machinery book value of Rs. 45.000) 30.000 4,3[1,{}DD|

gz ATHT (Net profit) 1,50,000|

HA: (Contd...)



1041'A" (8)
97 AM&e® (Additional information):

i) B8 @83 (Purchase of machinery): Rs. 3,53,000
i) R o (Sale of machinery) Rs. 15,000

TR e (Required): [¥+3+9+9]

e fafer waRT T8 TR vETe e (Cash flow statement using indirect method)
3R, UIT FREHTH F aeeies aus g ;

Following information of a factory is given below :

v ATl (Direct Material) Rs. 3,00,000

T ™0 (Direct Wages) Rs. 2,00,000
FIEMT AW @9 (Factory overhead) Rs. 60,000

JUTEME A9cdel @9 (Administrative overhead) Rs. 56,000

=t @9 (Selling expenses) Rs. 28,000

BT FUB! ATNT HFIAI Foof AT T (0! Hod ATHTT T4 ATeddbl G | A [HATer
et ST ATHT 7T |

The company wants to estimate the total cost and selling price for next
year. The costing department estimated the cost for :
gog& 9T (Direct material) Rs. 50,000
el ST (Direct wages) Rs. 30,000
FREMT AYIH G HET ANTTAT ATETT A4 |
(Factory overhead on the basis of prime cost)
TS ATCHH T HI@AT ANTHT ATETL /AT |
(Administrative overhead on the basis of factory cost)
ferst @=ieTs 9 FTETHT ARTTHT § ATHR AT |
(Selling expenses also on the basis of factory cost)
ATHT (Profit) 20% of sales.
TR T (Required): [3+%]
a) @1 faaTor (Cost Sheet)
b) FeTx fa<or (Tender Sheet)



